. infile invest income consum using e1.txt in 1/92

(eof not at end of obs)

(92 observations read)

. generate tt = _n-1

. tsset tt, quarterly

        time variable:  tt, 1960q1 to 1982q4

. generate linvest = log(invest)

. generate lincome = log(income)

. generate lconsum = log(consum)

. var d(linvest) d(lincome) d(lconsum) in 1/76, lutstats

Vector autoregression

Sample:  1960q4   1978q4                           No. of obs      =        73

Log likelihood =   606.307             (lutstats)  AIC             = -24.63163

FPE            =  2.18e-11                         HQIC            = -24.40656

Det(Sigma_ml)  =  1.23e-11                         SBIC            = -24.06686

Equation           Parms      RMSE     R-sq      chi2     P>chi2

----------------------------------------------------------------

D_linvest             7     .046148   0.1286   10.76961   0.0958

D_lincome             7     .011719   0.1142   9.410683   0.1518

D_lconsum             7     .009445   0.2513   24.50031   0.0004

----------------------------------------------------------------

------------------------------------------------------------------------------

             |      Coef.   Std. Err.      z    P>|z|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

D_linvest    |

     linvest |

         LD. |  -.3196318   .1192898    -2.68   0.007    -.5534355   -.0858282

        L2D. |  -.1605508    .118767    -1.35   0.176      -.39333    .0722283

     lincome |

         LD. |   .1459851   .5188451     0.28   0.778    -.8709326    1.162903

        L2D. |   .1146009    .508295     0.23   0.822     -.881639    1.110841

     lconsum |

         LD. |   .9612288   .6316557     1.52   0.128    -.2767936    2.199251

        L2D. |   .9344001   .6324034     1.48   0.140    -.3050877    2.173888

       _cons |  -.0167221   .0163796    -1.02   0.307    -.0488257    .0153814

-------------+----------------------------------------------------------------

D_lincome    |

     linvest |

         LD. |   .0439309   .0302933     1.45   0.147    -.0154427    .1033046

        L2D. |   .0500302   .0301605     1.66   0.097    -.0090833    .1091437

     lincome |

         LD. |  -.1527311    .131759    -1.16   0.246    -.4109741    .1055118

        L2D. |   .0191634   .1290799     0.15   0.882    -.2338285    .2721552

     lconsum |

         LD. |   .2884992   .1604069     1.80   0.072    -.0258926    .6028909

        L2D. |     -.0102   .1605968    -0.06   0.949    -.3249639    .3045639

       _cons |   .0157672   .0041596     3.79   0.000     .0076146    .0239198

-------------+----------------------------------------------------------------

D_lconsum    |

     linvest |

         LD. |   -.002423   .0244142    -0.10   0.921     -.050274     .045428

        L2D. |   .0338806   .0243072     1.39   0.163    -.0137607    .0815219

     lincome |

         LD. |   .2248134   .1061884     2.12   0.034     .0166879    .4329389

        L2D. |   .3549135   .1040292     3.41   0.001     .1510199     .558807

     lconsum |

         LD. |  -.2639695   .1292766    -2.04   0.041     -.517347    -.010592

        L2D. |  -.0222264   .1294296    -0.17   0.864    -.2759039     .231451

       _cons |   .0129258   .0033523     3.86   0.000     .0063554    .0194962

------------------------------------------------------------------------------

. varsoc

   Selection order criteria (lutstats)

   Sample:  1960q4   1978q4                     Number of obs      =        73

  +---------------------------------------------------------------------------+

  |lag |    LL      LR      df    p      FPE       AIC      HQIC      SBIC    |

  |----+----------------------------------------------------------------------|

  |  0 |  580.764                      2.7e-11   -24.425   -24.425*  -24.425* |

  |  1 |  593.106  24.683    9  0.003  2.4e-11  -24.5165   -24.404  -24.2341  |

  |  2 |  606.307  26.403*   9  0.002  2.2e-11* -24.6316* -24.4066  -24.0669  |

  +---------------------------------------------------------------------------+

   Endogenous:  D.linvest D.lincome D.lconsum

    Exogenous:  _cons

. varstable

   Eigenvalue stability condition

  +----------------------------------------+

  |        Eigenvalue        |   Modulus   |

  |--------------------------+-------------|

  |   .5704708               |   .570471   |

  |  -.3905477 +  .3890671i  |   .551272   |

  |  -.3905477 -  .3890671i  |   .551272   |

  |   -.077255 +  .4856136i  |    .49172   |

  |   -.077255 -  .4856136i  |    .49172   |

  |  -.3711977               |   .371198   |

  +----------------------------------------+

   All the eigenvalues lie inside the unit circle

   VAR satisfies stability condition

. var invest income consum in 1/76, lags(1) lutstats

Vector autoregression

Sample:  1960q2   1978q4                           No. of obs      =        75

Log likelihood = -854.6056             (lutstats)  AIC             =  14.51585

FPE            =   2182882                         HQIC            =  14.62689

Det(Sigma_ml)  =   1584616                         SBIC            =  14.79395

Equation           Parms      RMSE     R-sq      chi2     P>chi2

----------------------------------------------------------------

invest                4     16.2316   0.9885   6452.518   0.0000

income                4     12.5887   0.9994   129591.9   0.0000

consum                4     8.40652   0.9996   205853.1   0.0000

----------------------------------------------------------------

------------------------------------------------------------------------------

             |      Coef.   Std. Err.      z    P>|z|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

invest       |

      invest |

         L1. |   .9273179   .0500325    18.53   0.000     .8292561     1.02538

      income |

         L1. |   .0033482   .1021494     0.03   0.974     -.196861    .2035574

      consum |

         L1. |   .0247124   .1171524     0.21   0.833    -.2049021    .2543268

       _cons |   8.321639   7.253988     1.15   0.251    -5.895916    22.53919

-------------+----------------------------------------------------------------

income       |

      invest |

         L1. |   .0916188   .0388037     2.36   0.018     .0155649    .1676727

      income |

         L1. |    1.05164   .0792241    13.27   0.000     .8963633    1.206916

      consum |

         L1. |  -.0741615     .09086    -0.82   0.414    -.2522437    .1039208

       _cons |  -.0549571   5.625979    -0.01   0.992    -11.08167    10.97176

-------------+----------------------------------------------------------------

consum       |

      invest |

         L1. |   .0065106   .0259124     0.25   0.802    -.0442767     .057298

      income |

         L1. |   .2428474   .0529044     4.59   0.000     .1391567    .3465381

      consum |

         L1. |   .7260673   .0606746    11.97   0.000     .6071473    .8449874

       _cons |   9.425955   3.756926     2.51   0.012     2.062516    16.78939

------------------------------------------------------------------------------

. varstable

   Eigenvalue stability condition

  +----------------------------------------+

  |        Eigenvalue        |   Modulus   |

  |--------------------------+-------------|

  |   1.014308               |   1.01431   |

  |   .8453584 + .00802705i  |   .845396   |

  |   .8453584 - .00802705i  |   .845396   |

  +----------------------------------------+

   At least one eigenvalue is at least 1.0

   VAR does not satisfy stability condition

